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Roll No. ...................................  

DD–2023 

B. Com. (Part II) EXAMINATION, 2020 

(Group—I : Compulsory) 

Paper First  

CORPORATE ACCOUNTING  

Time : Three Hours 

Maximum Marks : 75 

Minimum Pass Marks : 25 

uksV %uksV %uksV %uksV %    lHkh ik¡pik¡pik¡pik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d ,d ,d ,d iz’u    
djuk vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZbdkbZbdkbZbdkbZ&&&&1111    
(UNIT—1) 

1- Hkkjr fy- us izR;sd ` 10 ds 200000 lerk va’kksa ds fuxZeu gsrq 
vkosnu vkeaf=r fd;sA jkf’k;k¡ fuEu izdkj ns; Fkha % 
vkosnu ij ` 3 izfr va’k] vkcaVu ij ` 5 izfr va’k] izFke ,oa 
vafre ;kpuk ij ` 2 izfr va’kA 

300000 va’kksa ds fy, vkosnu izkIr gq, Fks vkSj lHkh vkosndksa 
dks ;Fkkuqikr vkcaVu fd;k x;k FkkA 
^ctkt* us] ftls 3000 va’k vkcafVr fd, x, Fks] vkcaVu rFkk 
;kpuk jkf’k dk Hkqxrku ugha fd;kA mlds va’k gj.k dj fy, 
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x, FksA gj.k fd, x, va’kksa esa ls 2500 va’k ` 8 izfr va’k] 
iw.kZnŸk :i esa iqu% fuxZfer fd, x, FksA 
mi;qDr ysu&nsuksa dks vfHkysf[kr djus ds fy, vko’;d 
jkstukepk izfof”V;k¡ dhft,A 
Bharat Ltd. invited applications for issuing 200000 equity 

shares of ` 10 each. The amount was payable as follows : 

On applications ` 3 per share, on allotment ` 5 per share, 

and on first and final call ` 2 per share. 

Applications for 300000 shares were received and pro-

rata allotment was made to all the applicants. 

‘Bajaj’, who was allotted 3000 shares failed to pay the 

allotment and call money. His shares were forfeited. Out 

of the forfeited shares 2500 shares were reissued as fully 

paid up @ ` 8 per share. 

Pass the necessary journal entries to record the above 

transactions. 

vFkokvFkokvFkokvFkok    
(Or) 

_.ki=ksa ds ‘kks/ku ls vki D;k le>rs gSa \ _.ki=ksa ds 
foekspu ¼’kks/ku½ dh fofHkUu fof/k;ksa dks le>krs gq, lacaf/kr 
iath izfof”V;k¡ Hkh n’kkZb,A 
What do you understand by redemption of debentures ? 

Explain the methods for redemption of debentures along 

with the relevant journal entries. 

bdkbZbdkbZbdkbZbdkbZ&&&&2222    
(UNIT—2) 

2- dEiuh vf/kfu;e] 2013 ds vuqlkj ,d dEiuh ds fpës dk 
uewuk nhft, rFkk izR;sd eq[; ‘kh”kZd dh la{ksi esa O;k[;k 
dhft,A 
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Give a specimen form of Balance Sheet of a Company 

according to Companies Act, 2013 and explain each main 

head in brief. 

vFkokvFkokvFkokvFkok    
(Or) 

fuEukafdr nkf;Roksa ds lkFk ,- ch- dEiuh fy- dk lekiu gqvk % 
(i) jf{kr ysunkj ` 20]000 ¼` 25]000 izfrHkwfr;ksa ls izkIr 

gq,½A 

(ii) iwokZf/kdkjh ysunkj ` 6]000A 

(iii) vjf{kr ysunkj ` 30]500A lekiu O;; ` 252 gq,A 

lekid ¼fuLrkjd½ olwy gqbZ /kujkf’k dk 3% rFkk vjf{kr 
ysunkjksa dks forfjr dh xbZ jkf’k dk 1.5% ikfjJfed izkIr 
djus dk vf/kdkjh gSA fofHkUu lEifŸk;ksa ls ` 26]000 olwy gq, 
ftuesa ,slh laifŸk;k¡ lfEefyr ugha gSa tks iw.kZ jf{kr ysunkjksa ds 
ikl gSaA 

fuLrkjd dk vfUre fooj.k [kkrk cukb,A 
fuLrkjd viuk ikfjJfed csph xbZ dqy lEifŸk;ksa ls izkIr /ku 
ij ysus dk vf/kdkjh gS ftlesa os izfrHkwfr;k¡ Hkh lfEefyr gSa tks 
iw.kZ jf{kr ysunkjksa ds ikl gSaA 
AB Company Limited went into liquidation with the 

following liabilities : 

(i) Secured Creditors ` 20,000 (Securities realised 

` 25,000). 

(ii) Preferential creditors ` 6,000. 

(iii) Unsecured Creditors ` 30,500. Liquidation expenses 

were ` 252. 

Liquidator’s remuneration 3% on the amount realised and 

1.5% on the amount distributed to unsecured creditors. 
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` 26,000 were realised from various assets and this 

amount does not include those securities which are with 

secured creditors. 

Prepare Liquidator’s Final Statement of Account. 

Liquidator is entitled for remuneration on the amount 

realised on all the assets including those which are with 

the secured creditors. 

bdkbZbdkbZbdkbZbdkbZ&&&&3333    
(UNIT—3) 

3- y{eh fyfeVsM dk fpëk 31 ekpZ] 2019 dks fuEukafdr Fkk % 

 fooj.kfooj.kfooj.kfooj.k    fVIi.kh lafVIi.kh lafVIi.kh lafVIi.kh la----    jkf’k ¼jkf’k ¼jkf’k ¼jkf’k ¼`̀̀̀½½½½    

I. lerk ,oa nkf;Rolerk ,oa nkf;Rolerk ,oa nkf;Rolerk ,oa nkf;Ro    %%%%      

 ¼1½ va’k/kkfj;ksa dk dks”k %   

    ¼v½ va’k iw¡th 1 2,00,000 

    ¼c½ lap; ,oa vfrjsd  70,000 

 ¼2½ va’k vkosnu jkf’k vkcaVu 
   yafcr 

 

Nil 

 ¼3½ xSj&pkyw nkf;Ro %   

    nh?kZdkfyd m/kkj 2 1,00,000 

 ¼4½ pkyw nkf;Ro %   

    O;kikfjd ns;  30,000 

 ;ksx  4,00,000 

II. laifŸk;k¡ %laifŸk;k¡ %laifŸk;k¡ %laifŸk;k¡ %      

  xSj&pkyw vkSj pkyw laifŸk;k¡  4,00,000 

 ;ksx  4,00,000 
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 ys[ks laca/kh fVIif.k;k¡ys[ks laca/kh fVIif.k;k¡ys[ks laca/kh fVIif.k;k¡ys[ks laca/kh fVIif.k;k¡    %%%%      

 fooj.kfooj.kfooj.kfooj.k    jkf’k jkf’k jkf’k jkf’k ¼`½ 

(1) va’k iw¡th %  

 2000 lerk va’k ` 100 izfr va’k 2,00,000 

  2,00,000 

(2) nh?kZdkfyd m/kkj %  

 lqjf{kr _.k 1,00,000 

 10% _.ki= 1,00,000 

fofo/k laifŸk;ksa dk cktkj ewY; ` 5]00]000 gS rFkk dEiuh dh 

vkSlr vk; dEiuh ds _.ki=ksa ij C;kt nsus ds i’pkr~ fdUrq  

30% vk;dj nsus ds iwoZ ` 1]40]000 okf”kZd gSA oSlh gh vU; 

dEifu;ksa esa vk; dh lkekU; nj 10% gSA 

vkidks va’kksa dk mfpr ewY; fu/kkZfjr djuk gSA 

On 31st March, 2019 the Balance Sheet of Laxmi Ltd. 

was as follows : 

 
Particulars 

Note 

No. 

Amount 

(`̀̀̀) 

I. Equity and Liabilities :   

 (1) Shareholder’s Funds :   

     (a) Share Capital 1 2,00,000 

     (b) Reserve and Surplus  70,000 

 (2) Share Application Money 

      Pending Allotment 

 

Nil 
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 (3) Non-Current Liabilities :   

      Long-term Borrowings 2 1,00,000 

 (4) Current Liabilities :   

       Trade Payable  30,000 

 Total  4,00,000 

II. Assets :  

 Non-current and Current Assets  4,00,000 

 Total 4,00,000 

 
Notes to Accounts : 

 

 
Particulars 

Amount 

(`) 

 (1) Share Capital :  

       2000 Equity Shares of ` 100 each 2,00,000 

  2,00,000 

 (2) Long-term Borrowings :  

      Secured Loan 1,00,000 

     10% Debentures 1,00,000 

Market value of the sundry assets is ` 5,00,000. The 

average earnings of the company after making payment 

for the interest to debentures but before paying for the 

income tax at 30% rate comes to ` 1,40,000 per annum. 

Normal rate of return in similar companies is 10%. 

Compute the fair value of shares. 



 [ 7 ] DD–2023 

 (A-85) P. T. O. 

vFkokvFkokvFkokvFkok    

(Or) 

[;kfr dk D;k vFkZ gS \ ,d O;kikj dh [;kfr dks lkekU;r% 

dkSu&ls rRo izHkkfor djrs gSa \ [;kfr ds ewY;kadu dh fofHkUu 

fof/k;ksa dk o.kZu dhft,A 

What is meant by goodwill ? What factors generally affect 

the goodwill of a business ? Discuss the different methods 

of valuing goodwill. 

bdkbZbdkbZbdkbZbdkbZ&&&&4444    
(UNIT—4) 

4- fuEukafdr fpëk lqHkk”k fy- dk gS % 

fooj.kfooj.kfooj.kfooj.k    
jkf’kjkf’kjkf’kjkf’k    
(`̀̀̀) 

I. lerk ,oa nkf;Ro %lerk ,oa nkf;Ro %lerk ,oa nkf;Ro %lerk ,oa nkf;Ro %    

va’k/kkjh dk dks”k % 

 

va’k iw¡th %  

4000] 8% iwokZf/kdkj va’k ` 10 okys 40,000 

30000 lerk va’k ` 10 okys 3,00,000 

lap; ,oa vkf/kD; %  

ykHk&gkfu fooj.k ¼fod- ‘ks”k½ (80,000) 

pkyw nkf;Ro %  

O;kikfjd ns; 60,000 

 3,20,000 
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II.    lEifŸk;k¡ %lEifŸk;k¡ %lEifŸk;k¡ %lEifŸk;k¡ %     

   xSj&pkyw lEifŸk;k¡ %  

   LFkk;h laifŸk;k¡ %  

   ewrZ laifŸk;k¡ %  

   Hkou 1,60,000 

   e’khujh 80,000 

   QuhZpj 20,000 

pkyw lEifŸk;k¡ %  

O;kikfjd izkI; 50,000 

vU; pkyw lEifŸk;k¡ %  

vlekfir va’kksa ds fuxZeu ij dVkSrh 10,000 

 3,20,000 

dEiuh vlQy gqbZ vkSj iqufuZekZ.k dh fuEukafdr ;kstuk ikl 
dh xbZ % 

(i) iwokZf/kdkj va’kksa dh la[;k ogh jgh ij izfr va’k jkf’k 
?kVkdj ` 6 dj nh xbZA 

(ii) lerk va’kksa dh la[;k ogh jgh ij izfr va’k jkf’k ` 6 ls 
de dj nh xbZA 

(iii) ml miyC/k jkf’k dk mi;ksx va’kksa ds fuxZeu ij dVkSrh 
,oa ykHk&gkfu ds MsfcV ‘ks”k dh jkf’k;ksa dks iw.kZ :i ls 
vifyf[kr djus ds fy, fd;k x;k rFkk ` 60]000 Hkou 
ds] ` 30]000 e’khu ds] ` 6]000 QuhZpj ds vkSj ‘ks”k 
O;kikfjd izkI;ksa ds vifyf[kr djus esa iz;ksx fd;k x;kA 

bu O;ogkjksa dk tuZy esa ys[kk dhft, rFkk iqufuZekZ.k ds 
i’pkr~ dEiuh dk fpëk cukb,A 
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Following is the Balance Sheet of Subhash Ltd. : 

Particulars 
Amount 

(`̀̀̀) 

I.  Equity and Liabilities :  

    Shareholder’s Funds :  

    Share Capital :  

    4000, 8% Pref. shares of ` 10 each 40,000 

   30000 Equity shares of ` 10 each 3,00,000 

   Reserve and Surplus :  

   Statement of P & L (Dr. Balance) (80,000) 

   Current Liabilities :  

   Trade Payables 60,000 

 3,20,000 

II. Assets :  

   Non-current Assets :  

   Fixed Assets :  

   Tangible Assets :  

   Building 1,60,000 

   Machinery 80,000 

   Furniture 20,000 

  Current Assets :  

  Trade Receivables 50,000 

  Other Current Assets :  

  Unamortised discount on issue of shares 10,000 

 3,20,000 
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Company proved unsuccessful and the following scheme 

of reconstruction is passed : 

(i) Preference shares be reduced to an equal number of 

fully paid shares of ` 6 each. 

(ii) Equity shares be reduced by ` 6 each though total 

number of equity shares will remain the same. 

(iii) That the amount thus available for the reduction of 

the assets is apportioned as follows : 

 Discount on issue of share and debit balance of P & 

L, to be written-off entirely, ` 60,000 off the 

buildings, ` 30,000 off the machines, ` 6,000 off the 

furnitures and the balance available to be written off 

trade receivables. 

Pass journal entries and prepare Balance Sheet after 

reconstruction.  

vFkokvFkokvFkokvFkok    

(Or) 

foy; ds LoHkko vkSj Ø; ds LoHkko ds ,dhdj.k ls vki D;k 
le>rs gSa \ bu nksuksa esa D;k vUrj gS \ 

What do you mean by amalgamation in the nature of 

merger and nature of purchase ? What is the difference 

between the two ? 

bdkbZbdkbZbdkbZbdkbZ&&&&5555    
(UNIT—5) 

5- 31 ekpZ] 2019 dks A fyfeVsM vkSj B fyfeVsM ds laf{kIr 
nkf;Roksa ,oa laifŸk;ksa ds fooj.k fuEu izdkj FksA B fy- 
A fy- dh lgk;d dEiuh gS % 
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fooj.kfooj.kfooj.kfooj.k    
‘A’    fyfeVsMfyfeVsMfyfeVsMfyfeVsM    

(`̀̀̀) 

‘B’ fyfeVsMfyfeVsMfyfeVsMfyfeVsM    
(`̀̀̀) 

ns;rk,¡ns;rk,¡ns;rk,¡ns;rk,¡    %%%%      

va’k iw¡th 1,80,000 1,00,000 

ykHk&gkfu fooj.k&i= 35,000 – 

ysunkj 80,000 30,000 

 2,95,000 1,30,000 

lEifŸk;k¡ %lEifŸk;k¡ %lEifŸk;k¡ %lEifŸk;k¡ %      

fofo/k laifŸk;k¡ 1,90,000 80,000 

nsunkj 50,000 25,000 

lgk;d daiuh esa va’k ` 10 okys 
8000 va’k ¼ykxr ij½ 55,000 – 

ykHk&gkfu fooj.k&i= – 25,000 

 2,95,000 1,30,000 

‘A’ fyfeVsM ds nsunkjksa esa ` 10]000 dh ,d jkf’k ‘kkfey gS 
tks ‘B’ fyfeVsM }kjk ns; gSA 1 vDVwcj] 2018 dks ‘A’ 
fyfeVsM us ‘B’ fyfeVsM ds va’k izkIr fd,A bl frfFk dks 
lgk;d dEiuh ds ykHk&gkfu fooj.k&i= esa ` 40]000 dk MsfCkV 
‘ks”k FkkA 

fefJr nkf;Roksa o laifŸk;ksa dk fooj.k cukb,A 

The following are the summarized detailed of liabilities 

and assets of ‘A’ Limited and ‘B’ Limited as at 31st 

March, 2019. B Ltd. is a subsidiary company of A 

Limited : 

Particulars 
A Ltd. 

(`̀̀̀) 

B Ltd. 

(`̀̀̀) 

Liabilities :   

Share Capital 1,80,000 1,00,000 

Statement of Profit & Loss 35,000 – 

Creditors 80,000 30,000 

 2,95,000 1,30,000 
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Assets :   

Sundry Assets 1,90,000 80,000 

Debtors 50,000 25,000 

Shares in Subsidiary Co. 

8000 shares of ` 10 each (at 

cost) 55,000 – 

Statements of Profit & Loss – 25,000 

 2,95,000 1,30,000 

The debtors of A Ltd. include ` 10,000 due from ‘B’ Ltd. 

‘A’ Ltd. acquired the shares of ‘B’ Ltd. on 1st Oct., 2018 

when the subsidiary company had a debit balance of 

Statement of Profit & Loss of ` 40,000. 

Prepare Consolidated Balance Sheet. 

vFkokvFkokvFkokvFkok    
(Or) 

lw=/kkjh dEiuh ,oa lgk;d dEiuh ls D;k vk’k; gS \ blds 
xq.k&nks”kksa dk foospu dhft,A fefJr fpëk dSls cuk;k tkrk  
gS \ crkb,A 

What do you understand by Holding Company and 

Subsidiary Company ? Discuss its advantages and 

disadvantages. How is consolidated Balance Sheet 

prepared ? Explain. 
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